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Solve each problem.
1) 26,862 + 15,518 =

26,862 36,862 41,862 42,362 42,372 42,380

+10,000 +5,000 +500 +10 +8

2) 60,964 + 6,439 =

60,964 66,964 67,364 67,394 67,403

+6,000 +400 +30 +9

3) 47,796 + 19,936 =

47,796 57,796 66,796 67,696 67,726 67,732

+10,000 +9,000 +900 +30 +6

4) 26,618 + 16,976 =

26,618 36,618 42,618 43,518 43,588 43,594

+10,000 +6,000 +900 +70 +6

5) 52,993 + 26,616 =

52,993 72,993 78,993 79,593 79,603 79,609

+20,000 +6,000 +600 +10 +6

6) 48,317 + 22,782 =

48,317 68,317 70,317 71,017 71,097 71,099

+20,000 +2,000 +700 +80 +2

7) 21,535 + 17,029 =

21,535 31,535 38,535 38,555 38,564

+10,000 +7,000 +20 +9

8) 48,602 + 36,022 =

48,602 78,602 84,602 84,622 84,624

+30,000 +6,000 +20 +2

Answers

1. 42,380

2. 67,403

3. 67,732

4. 43,594

5. 79,609

6. 71,099

7. 38,564

8. 84,624

1-8 88 75 63 50 38 25 13 0



Name: Answer KeyAddition Using Open Number Lines
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Solve each problem.
1) 26,862 + 15,518 =

26,862 36,862 41,862 42,362 42,372 42,380

+10,000 +5,000 +500 +10 +8

2) 60,964 + 6,439 =

60,964 66,964 67,364 67,394 67,403

+6,000 +400 +30 +9

3) 47,796 + 19,936 =

47,796 57,796 66,796 67,696 67,726 67,732

+10,000 +9,000 +900 +30 +6

4) 26,618 + 16,976 =

26,618 36,618 42,618 43,518 43,588 43,594

+10,000 +6,000 +900 +70 +6

5) 52,993 + 26,616 =

52,993 72,993 78,993 79,593 79,603 79,609

+20,000 +6,000 +600 +10 +6

6) 48,317 + 22,782 =

48,317 68,317 70,317 71,017 71,097 71,099

+20,000 +2,000 +700 +80 +2

7) 21,535 + 17,029 =

21,535 31,535 38,535 38,555 38,564

+10,000 +7,000 +20 +9

8) 48,602 + 36,022 =

48,602 78,602 84,602 84,622 84,624

+30,000 +6,000 +20 +2

Answers

1. 42,380

2. 67,403

3. 67,732

4. 43,594

5. 79,609

6. 71,099

7. 38,564

8. 84,624

1-8 88 75 63 50 38 25 13 0



Name:Addition Using Open Number Lines
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Solve each problem.
1) 26,862 + 15,518 =

26,862

+10,000 +5,000 +500 +10 +8

2) 60,964 + 6,439 =

60,964

+6,000 +400 +30 +9

3) 47,796 + 19,936 =

47,796

+10,000 +9,000 +900 +30 +6

4) 26,618 + 16,976 =

26,618

+10,000 +6,000 +900 +70 +6

5) 52,993 + 26,616 =

52,993

+20,000 +6,000 +600 +10 +6

6) 48,317 + 22,782 =

48,317

+20,000 +2,000 +700 +80 +2

7) 21,535 + 17,029 =

21,535

+10,000 +7,000 +20 +9

8) 48,602 + 36,022 =

48,602

+30,000 +6,000 +20 +2

Answers

1. 42,380

2. 67,403

3. 67,732

4. 43,594

5. 79,609

6. 71,099

7. 38,564

8. 84,624

Modified 1-8 88 75 63 50 38 25 13 0
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